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Head carefully the Instructions on the Back Cover of this Test Booklet.
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Important Instructions :

I,

2,

R

. The CODE for this Booklet is 1. Make sure that the CODE

Immediately fill in e particulars on this page of the Test
Booklet with Biue/Black Ball Poirl Per,

This Test Booklet consists of three parts - Part 1, Part IT and
Fart III. Fart [ has 50 objective type questions of Aptinede
Test consisting of FOUR {4) marks ¢ach for each correct
response. Part Il Mathematics has 30 objective tyvpe
questions consisting of FOUR {(4) marks for each correct
response. Mark your answers for these questions in the
appropriate space against the number corresponding to the
question in the Answer Sheet placed inside this Tast Booklat,
Use Biue/ Black Ball Point Pen only for writing particulars/
muarking responses on Side-1 and Side-1 of the Anstwer Sheet.
Part III consists of 2 questions carrying 70 marks which are
to be attempted on o separabe Drawing Sheet which is also
placed inside this Test Booklet. Marks allotted to each
question are written against each question. Wse colonr pencils
or crayons only on the Drawing Sheet. Do not use water
colowrs, For each incorrect response in Part 1 and Part [1,
one=fourth (%) of the total marks allotted to the question
would be deducted from the total score. Ne deduetion [rom
the total score, however, will be made if no response is
indicated for an item in the Answer Sheet.

There is only one correct response for each question in Part [ | 3.

and Part [L. Filling up more than one response in each question
will be treatad as wrong response and marks fos wrong response
will be deducted accordingly as per instruction 2 above,

The test is of 3 hours daration. The macimum macks are 390. | 4
U completion of the test, the candidates must hand over 5

the Answer Sheet of Apttude Test and Mathematics-Part
I & IT and the Drawing Sheet of Aptitude Test-Part 1T to
the Invigilator in the Room/Hall. Candidates are allowed to
take away with tham the Test Booklet of Aptitude Test-
Part T & II. -

printed on Side-2 of the Answer Sheet and on the Drawing
Sheat (Part L) is the same as that on this booklet. Also taily
the Serial Number of the Test Booklet, Answer Sheet and
Drawing Sheet and ensure that they are same. In case of
discreparcy in Code or Serdal Number, the candidate should
immediately report the matter to the [nvigilator for
replacement of the Test Booklet, Answer Sheet and the
Drawing Sheet.
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Part [ / HTT 1
Aptitude Test / stfusfa wdiegur

Directions : (For Q. 1 to 3). How many total number of parallelograms are there in the problem figure
given below ?

R : (W1 #3 & Rrg )1 7% & 7 w97 sl 4 gmiat wqyfst #) g7 9w foad &7

Problem Figure / F%7 3THld

f LSS
L AL

1 19 ) 20 (3) 16 4) 18

13 (3) 16 (4) 14

(1) 10 (2) 15 (3) 14 4) 12

H/Page?2 SPACE FOR ROUGH WORK /7% &4 & fag g
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Directions : (For Q. 4). Which one of the answer figures, shows the correct view of the 3 - D problem
figure, after the figure is opened up ? )

Ao (74 & 77 )13 - D 797 sty 1 @ I FA § °, qE e I A2

Problem Figure [ Answer Figures / 307 i
s tgures [/ ST
- : -
= _| [ ] =
[ N - A
4. ' ~ ]
& AF YT 9T 9k
= — = s
1) @ @) @

Directions : (For Q. 5 to 8). Find the odd figure out in the problem figures given below :
fder: (w5 @8 & fomm )i Tt 5 7 7T s A @ v g T

ot B0

(2) (3) 4
0
. |
(1) (2 (3) (4)
H/Page3 SPACE FOR ROUGH WORK / T% %14 o forg wmg
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(1) (3) (4)
¥ IE ;; E‘}
~ S
(1) (3) &)
Directions : (For Q. 9 to 14). Find out the total number of surfaces of te object given below, in the

problem figure.
Fder: (w9 @14 & fom )i ¥7 1F(7 A [aiiwd a6 ¥ G08 #1 Fol G A BHAT |
Problem Figure / Y97 STFf7

9. % (1) 15 (2) 13 (3) 12 (4) 14
10. @ 1) 17 (2) 18 (3 20 (4 19
11. @ (1) 20 2) 19 (3 17 (4) 18
12. @ 1 21 (2) 20 (3) 19 (4) 17
H/Paged SPACE FOR ROUGH WORK /T T4 & T Wi
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Problem Figure / TFT sty

e

13. :
b 15 @ 12 3 14 @ 13

14, ?JW 1) 13 "
H::j,jk » (2) 16 (3) 15 4) 14

Directions ;
ons : (For Q. 15 to 20). Tgr"te 3-D problem figure shows an object. Identify the corvect front
view, from amongst the answer figures, looking in the direction of

the arrow,
FE9T: (W15 %20 % for ) 3-D T SFIT § U T i ey e T %1 fawn 4 2w gy
Wﬂ?ﬁéﬁlﬁﬁm#ﬁﬂ?ﬁﬁﬁﬁ#wﬁm
Problem Figure | 397 STFfa Answer Figures / 37 sigfaai
ol
<
0 [ 1
15. L
i e
% (1) (2) (3) (4)

E (1) (2)

H/Page5 SPACE FOR ROUGH WORK / T% & % fefu =1mrg.
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Problem Figure / F97 i@l Answer Figures / J7 aFlaar
N =
>H B BPH B
- (1) (2) {3) (4)

B B0 D

2 3) 4)

2 B2 AR B

r (1) (2) (3) (4)

(4)

& D)l

4

H/Page 6 SPACE FOR ROUGH WORK /T &4 & o7 318
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Directions : (For Q. 21 and 22). The problem figure shows

correct front view, from amongst the answer figures,

FEr : (7. 21 3ifT22 % fomr )4 ¥ AFhT 7 el T w1 590 gva fewry T # ) I SFA
H s wE TgE vy et
Answer Figures / W sngioar

> T L
@ T\.| r& Ir% L\I

1) (2) (3) (4)

the top view of an object. Identify the

Problem Figure | 57 37

Directions : (For Q. 23 and 24), Which one of the answer figures is the correct mirror image of the

problem figure with respect to X - X ?
T - (.23 3ftr24 & faw )i IW I ' F wAE Ala 5 0 g AFE FK - X 9w
o gt & 2

Problem Figure / T¥7 STgHia Answer Figures / 00 HHiaql

X

23. \

V4 W VAl

(1) (2) (3) (4)
)If.: '
/ \ N\
24‘ % I
X 1) @) @) @
H/Page 7 SPACE FOR ROUGH WORK /7% & & forg womg
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Directions : (For (). 25), One of the following answer figures, is hidden in the problem figure, in
same size and direction. Select, which one is correct. - ’

Fdfer: (w25 3 femr )i a7 T I gl T A v A W s few F g wv &
sFla 4 fodt &1 #17 & @ & gf

Problem Figure / ¥99 gl

25.

Directions : (For Q. 26 to 31),

e : (W26 |31 & o )i

Problem Figure /| F¥7 3Hla

Answer Figures [ F0T 37

B J b o

1) @ G) 4)

The 3-D problem figure shows an object. Identify, ils correct
view, from amongst the answer figures.

3-D F¥ SFlT § UF Teg F oG 70 #1 T9E 98 I
I HElaL 7§ wwE

Answer Figures [ 3T Sfigfaar

i T s T
(1) 2 (3) (4)
nl BRI
1k,
(1) (2) @) (4
H/Page 8 SPACE FOR ROUGH WORK /7% &Td & feg me
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Problem Figure / 97 i Answer Figures [ 307 STHiaa
PaBin=np-
* = - ‘ ﬂr_:I:T'J
N i . i et
(1) @ (3) (4)
St
o ¥
29, [] ]_k :l_\
B ) @ ©3) @

By

(1) (2) (3) (4)

3.

T A

1) @ @) )

H/Page9 SPACE FOR ROUGH WORK /T% &1 & forw e
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Directions : (For Q. 32 and 33). Which one of the answer
three problem figures ?

Feer : (w32 aitras & o )y mwﬁﬁﬁ##ﬁ%#ﬁmwﬁ%ﬁﬁﬁ@#
HIFH (sequence) T & SOy 7 |

Problem Fi
em Figures / J97 sigifaai Answer Figures / 377 sfoar

- DT e ®@ae

figures will complete i seqence of the

® %% %gll%ﬂ%( ?J fg 3% %ﬂﬁ -fé}-
(1) ® G) @

Directions : (For ). 34 and 35). In the problem figures, A and B have certain relation. [dentify

u.lh;'rg a:w of the answer figures, will have similar relation between C
and D

Frfer : (934 31035 & B3)1 o7 STfrl A Sl B 5 v it wamer &1 57 970 o sy &
T (=T W, 3ot st & § e g

Problem Figures | ¥¥7 Siigsfaa Answer Figures | I SFHiaai

PR 225

@

- B[l B EE S
B C D ® @ ) @
H/ Page 10 SPACE FOR ROUGH WORK / 1% =14 & form v
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36. The windows in the west face of the 36. ufygw HE i E§ ﬁﬂ?aﬁﬂff Eal F[d i
building, can be best protected from sun il 8, Frtferfiag ¥4 ga @ aqﬁer;,-ﬁmﬁ
Thya by : T T HHAT$ -
(1) Roof projection (1) = fraeft gd (Projected) &4
(2)  Projected Sill (2) = et g (Projected) fas
(3)  Horizontal chajjas (3) &ffw e
(4)  Vertical louvers (4) = g ot
37. A house named ‘Antilla’ is recently built | 37. wyerd F ' sifeey’ sy REEREE R e
In Mumbai for whom ? TR ?
(1) Anil Ambani (1) =& sar
(2)  Lakshmi Mittal (2) =t fiyme
(3) Ratan Tata (3) a4 2
(4)  Mukesh Ambani (4)  THW e
38. Which one of the following, is known as 38. FifeteEn F @ #ve ‘wfw ve wm Eio)
‘Temple City’ of India ? €7
(1) Madurai (1) wg
(2) Kanpur (2) FAR
(3) Ahmedabad (3) SRR
(4) Nagpur (4) TR
39. Who amongst the following is famous but | 39, 57 | F 9ieg & W 56 ft g
has not designed any building ? fewmen = g 2
(1)  Buckminister Fuller (1) =T g
(2)  Frank Lloyed Wright (2) WF TEE e
(3) Gustav Eiffel (3) T EwE
(4) Pablo Piccasso (4) = fowm
40.  Which one of the following metal is | 40. qEHTE A FT Al wag %1 saren
generally used in the exterior cladding of (cladding) ¥ fare, Frefefas & § srfysar
high rise buildings ? I g F W F e
(1)  Aluminium (1) gt
(2) Zinc (2) == (f5w)
(3) Cast iron (3) =Eodi wE
(4) Platirum (4) wifem
H/Page1l SPACE FOR ROUGH WORK / T% @ % fra wmmg
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il
41. The Dargah of Salim Chishti is Jocated at: | 41, W favt % qome wet feerm &)
(1) Chaar Bagh (1) SR am
(2)  Fatehpur Sikri (2) wER Hwh
(3) Red Fort Delhi (3) = e fawedt
(4) Barra Imam Bara Lucknow (4) o<1 3790 gy wEEs
42. Which one of the f i i
s ollowing is not a | 42. ﬁqﬁf@ﬁﬁﬁﬁﬂﬂﬂﬁmﬁﬁqﬁﬁm?
(1) Stonehenge - Germany (1) =HEe - v+
(2)  Brasilia - Oscar Niemeyer (2) Wit - sw T
(3) Chandigarh - Corbusjer (3) =EME - FREEtw
(4)  New Delhi - Lutyens (4) 7% feoett - gy
43. Escalators are used for : 43, TUENE (TEE) faed e w5 & s
t:
(1) Horizontal movement only (1) et difaw nfe ¥ fere
(2)  Vertical movement only (2) %= IEhE Ty F fag
(3) Horizontal cum vertical movement (3) &fra qur Seafem nfy % fom
(4) None of the above ) FwHA G gt vfa ¥ fore =
4. Which one of the following cladding | 44. frfafen @ s o w=ifeT (dan
material, is best suited for sound insulation ehal ) T, gwivyed f wag arfos
inside an auditorium ? YT & fom TEE 7
(1)  Woollen Fabric (1) 3t w9z
(2)  Timber Tiles (2) wHE F TEH
3) Plywood (3) wmgs
(4) Ceramic Tiles (4) & fd & e
]
45. Winter Sun in the Northern Hemisphere | 45. 3wt miy & wfddii EREHEE LR icf 2
rises from :
(1) South of East (1) Iﬁt * =fim |
(2) South (2) =fmd
(3) East @) @H
(4)  North of East 4) WHFImA
H/Page12 SPACEFOR ROUGH WORK / 7% & & firr s
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j 46.  The colour of a well baked brick is - 16, aﬁmw@gﬁwﬁ%mm%?
;. (1)  Purple (1) <
| (2) Terracotta (2) FTmr (Terracotta)
[ (3)  Yellow (3) e
| (4) Gray (4) T (yER)
| 47. Who amongst the following is a Frefafes &
} i Amhgitect ? §] g is 2 well | 47. T ¥ Fa W ﬁﬁfﬂ'{%’i‘
(1) Nari Contractor (1) 8 ®fewex
(2)  Anjoli Ela Menon (2) &St T A9
(3) F.D. Souza (3) TR g
(4) Hafeez Contractor (4) FTEE Fdwey
48. Texture is related to which one of the | 45, wfa Frerferfas & & fred dafug &
fnll-::wing -
(1)  Weight (1) 9w
(2) Shape (2) s
(3) Form 3) ®9
(4) Surface (4) waE
49.  Heat gain in buildings is best resisted by : | 49. woi & o wiftg = 2% & fory, freafafiag
4 8w, wew atfw afaw ¥
(1) Cavity walls (1) e farit
(2) Thin walls (2) et et
(3) Large Windows (3) w% faefeal
(4)  Exposed Roof (4) AR o
50. In which state of India is Hawa Mahal | 50. o % fsqamsm & EEITTIFE feem 2
located ?
{1) Maharashtra (1) weEnm
! (2) Jammu and Kashmir (2) ¥ S FER
h i3) Gujarat (3) @
| (4) Rajasthan (4) TS
H/Page 13 SPACE FOR ROUGH WORK /T T % f&r svig
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Part IT / s 1
Mathematics / TrfoTg
51. The tangent to ellipse 322+ 16y°=12, at | 51. A 32 1 167 =12 & faz
: 3 . 3
the point [1, ZJ, intersects the curve (1, —4—} @i 7wy Ty x=0
VHr=0at : I T # -
(1)  two distinct points (1) =t fafim fefgad v
(2)  more than two points (2) = F aAfuF fagai o
(3) no point (3) Tt oft filg o 7
(1)  exactly one point (4) FFE uw fag m
52.  Each side of a square is increasing at the | 52, u% =7 =% wobs 09 1 9L/8. F} uF 5o
uniform rate of 1 m/sec. If after some time WHaRE 7% T8 999 ¥ wwT & f w5
the area of the square is increasing at the mﬂﬂﬁ.f@_ﬁﬂ@ﬁmtﬁw
rate of 8 m?/sec, then the area of square 99 91 & %, 991 diey q 2.
at that time in sq. meters is :
(1) 16 1) 16
(2) 25 (2) 25
3) 4 3) 4
(4) 9 (4) 9
g2 1 — 2
53. The differential equation gi N 53. % HtEAW SE ~¥-y ,F9 % W
* y _ d ¥
determines a family of circles with Fe & Fffia =t & faad
(1) fixed radius and variable centre on (1) fafeea oot 7o =2 FEE A -TH W
X-axis #
(2) fixed radius and variable centre on (2) Fifrea oo qm o g S o
y-axis 2l
(3) variable radius and fixed centre (3) = = & aw ¥ fafem 2
(4) wariable radius and variable centre (4) F=n=xeawFz dfime
H/Page14 SPACE FOR ROUGH WORK /7% %14 % fag o
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54. If the mean u? a set of observations | 54. afz Saif 1, x, ., Xy, % TH=T w1 Wy
Xy Xy, .y Xy is 20 then the mean of 0% X 44, 0, +8, 53 +12, ., x, +40
'xl +4ﬂ I2+Bi 13+12, amng .'k'-m-l- 4[] iS ﬂﬂmﬂl'%: ¥
! (1) 38 (1) 38
(2) 40 (2) 10
! (3) 34 (3) 34
|
(4) 42 (4) 42
55. If the line joining points A(2, 0) and | 55. =f% fagsi A2, 0) 7en B(3, 1) Ft faem areft
| B(3, 1) is rotated about A in anti-clock wise T A % T amad fown  15° g ) 2
| direction through an angle of 15°, then the A T w1 7 feafa F el £
' equation of line in new position is :
|'
' (1) x+By=2 1) x+J3y=2
. .
2 x-By=2 (2) x-3y=2
3) VEr-y=2J3 3) Br-y=243
(4) q@x+y=2wﬁ (4) '~,."§:r+y=2ﬁ
56. Amongst the following functions, a | 56. fr=fafas we § ¥ 3¢ o WM x=0 W
function that is differentiable at x=0 is ; HEFAT R ¥
(1) sin(jx]) + x| (1) sinfx])+ [x] '
(2)  sin{x]) —|x| (2)  sin(jx]) - |x]
| (3)  cos(jx])=|x] (3)  cos(jaf)—|x|
(4)  cos(lx])+ || (4)  cos(lx]) +|x|
H/Page15 SPACE FOR ROUGH WORK /7% &1 % femy s
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57,

38,

. 1], n? 2
[ n
nzﬂm- l‘l[l ¥ n: +12 E n? +22 *
———— n.z '~
n2+(n—-1}2 15 equal to ;
oo
M 7
w
@ =z
: T
(3) 2
m
@ 3
Leta,b,ceR a>0 andﬁmcﬁﬂnf:ﬁ—hﬂ

be defined by fix)=ax’+br +c.

Statement 1: b® < 4 5c — f(x) > 0, for
every value of x.

Statement 2 : fis strictly decreasing in the

interval (— =, % |and strictly increasing
/

-b
in the interval (— “],
2a |
(1) Statement 1 is true, Statement 2 is

false.

(2) Statement 1 is false, Staternent 2 js
true,

(3) Statement 1 is true, Statement 2 is
frue, Statement 2 is a correct
‘explanation for Statement 1.

(4) Statement 1 is true, Statement 2 is
true, Statement 2 is not a correct
explanation for Statement 1.

58,

n? :
fzm—-1+—ﬁ_._+_"_,+ +
n— 0| n? +1 n? 4 2 i

n? i s
n® + {n-—1)?
™
o 3
i
2 .
@ 2
(3) 3
L
(4) 3

Wa,b,ceR,abﬂ%HﬂTTﬁ?f:R—rR,
f{r}:axz-r—bx+cﬁm i

FUTL: b” <dac = f(z) > 0, 1 ¥ Gt Ty
¥ o

a?mz:faqﬂ'{rﬁ(_m,i’Jﬁﬁmmﬁ

2a

# qur st ,E,w]ﬂﬁwaam%u
(1) 97 199 8, %99 2 amaeg
(2) w1379 & w7 299 &

B) 1AL F97 297 ¥ ;me7 2,
FUT 1 F T e

(4) FHI1TFE S99 2090 F . or 2.
FUT1 W E = W g

H/Page 16
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R ki

a b
59, LetaJ , be a 2% 2 matri i i
Lo dJ atrix where | 59. W A = 5 UF 2x2 ATAE # &

a, b, ¢, d take the values 0 or 1 only, The a, b, c, d%F TF FHaa 0 A9 1 4 oH I ]

number of such matrices which have F1 Hey faas EELE A

inverses is : =

(1) 6 (1) 6

2) 5 (2) 5

(3) 8 (3) 8

4) 7 4 7

60.  Statement 1: Consider the statements | 60, ®UT 1 : Frerfafan Feei feremt wifa |

p : Delhi is in India p : Teeeit wma # &)

q : Mumbai is not in Italy, q: 59¢ seal ¥ A8 £

Then the negation of statement Pvygis o F p v q 1 oY wu # ' feweht wmm

‘Delhi is not in India and Mumbai is in TEI & 90 g Telt ¥ 3

Italy”.

Statement 2 : For any two statements p YT 2: 7 Q Fudfipamq ¥ fag

and g

“Pvqi=~pv-~—q

~(pva)==pv~q

(1) Statement 1 is true, Statement 2 is (1) +99 18 ¥, F99 2 7\ &
false.

(2) Statement 1 is false, Statement 2 is (2) 971 95% T FUH26F £
true.

(3) Statement 1 is true, Statement 2 is (3) FUA 1% ¢, w2\ § ;e 2,
true, Statement 2 is a correct F2 1 F1 HE = ¥
explanation for Statement 1.

(4) Statement 1 is true, Statement 2 is (4) LT, B 2TS R T2,
true, Statement 2 is not a correct FYT 1 i Ul ST T ¢
explanation for Statement 1.

H/Page17 SPACE FOR ROUGH WORK / T% %14 & fog s
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61. The tota] numhb ini
er of injective mapp;
. Ppings | 41,
from a set with m elements to 4 netnvjmgn U 99w, Fﬂﬁﬁf m 5993 § § sy
elements, for m > p, i - :‘E ’ e UEEECR i (m > n) ¥ udad
1) ™ #
(1) Ay om
(2)  zero :
5 m/ % ©
®) Fm—my @
oy n! {m — n)!
@ @y (4) 1
62. A class consists of 80 students, 25 of them s
:rcgu'ls. Hlﬂuftkmstudentsarerichand o Wmﬁﬂﬂﬁmtﬂﬁﬁqﬁﬁﬁmﬁf
ﬂ? of the students are fajr complexioned, R 10 forenf STHI & 741 20 feremff sfizaf *
en the probability of selecting a fair T FE B T v F 37 B 1 T
complexioned rich girl from the class bl 'mf-l'rm (77 mrd T ferraamy
(assuming three traits as independent) is : Ht:
5
(1) 513
1y —
= 512
@. =
3y T
& 1 ( 512
10 3 %3
@ .
32 1
@ 3
63.  The integral - » equals
(2 — 22 63. W [— & gt
” (a? — p2,2 2
O -5 b2 2 =g ax
va® —b“x 1) =——+=cC
. va? — b2 52
2 4.2
a“va® —b2y? (2) ‘2—‘2—1-=—-.— +C
a“va® —p* 2
(3) i
P I x
\f‘; b* x {3:] —'%—_—, +
va® — b? x2
(4) = +C
N W e
a’ya? - b? x?
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i e
R e ey i o

ﬁ‘!‘i‘

I -+
If a and b are two vectors such that

- -

= -+ = -
2a+b=e¢e; and a +2b = e,, where

€, =(1,1,1) and E_; = (1,1, -1), then

64. AR a7 b FMBERMERF 22 4 1 o g

HEJT_} et — - =
a+2b=e, ¥ e =(1,1,1) 7

& =(LL-1)ER 7 qmE & ot w1

cos™! (~74)

ol

o™ (%)

o1

P|Z—i|=2 T

HNZ—1-2i=4, Hfax wwaw § G 99 §

Cy C, % &t foua #
Cy, C, % a7t fidga ¥
C, czﬁmmﬁ F F

C, 74 C, 71 fafm fagell w whirsde

il

the angle between the vectors :': and E LE
is
(1) cos7(-
{ /1 1} (1)
@) w7
. (2)
!
' (3) Cﬂﬁ_[{%)
J ©)
L @ cos™(74))
(4)
65.  Two circles in complex plane are
65. C,
Cyi|Z=i|=2
Ca
Gy 1 [Z=1=2i|=4. Then L
(1) C, lies within C,, &)
| (2) C, lies within C,. (2)
| (3) €, and C, touch each other. (3)
|
(4) C, and C, intersect at two distinct (4)
points.
H/Page19
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66.  Statement 1; pojn; of intersection of the | gg T 1: Tawyg P=dy ¥ fagail (4, 4y 3o
angents drawn to the parabola xz--c-;y at (=4, 4) 97 wifsh E Ty YT uy Wiregg

(4 4 and (-4, 4) fieg o, the y-axis, Y-8 9 farg #

Statement 2 . Tangents drawn at the BT 2 WEEy xz=4ay W rfirera %

extremities of the latus rectum of the ﬁﬁg«aﬂ W G e oy i’@]ﬁ THE a7y gy

Parabola x”=day intersect op the axis of vl wet ¥

the parabola

(1) Statement 1 jg true, Statement 2 i () #1599 & o 2 HG9 ¥
false,

(2) Statement 1 is false, Statement 2 o (2) w99 1 3y € Ty o g &)
lrue,

(3)  Statement 1 ig irue, Statement 2 g G) ¥ 199§ wug 5 TEE wyy o
rue, Statement 2 is a correct FYF 1 & Flﬁ'aﬂ@iﬁ‘r
explanation for Statement 1,

(4)  Statement 1 i true, Statement 2 ig ) F7 199 & wem 24y ¢ @
true, Statement 2 iq not a correct FUT 1 %1 FE wpay TH# #
explanation for Statement 1.

67. The value of the determinant 67. HRfurE
| I
*’E*ﬁ ol B VB +v3 245 5|
\;15+£_.5 e \fﬁlmquam' VIS5+V36 5 g A wm &
PR JF s 3465 JiE 5‘

1) 5(v6 -5) M 5(+6 -5)

@ V3(J6 - B) (2 V3(v6 - yB)

B 5v3(v6 —5) 3)  5/3(\6 - 5)

@) 5/3(J6 - V5) @ 53(6 ~ 5)

68. The number of 4 - digit numbers with | gg. fﬁﬁmaﬁ“fﬁ'ﬁﬁh - At ﬁ'ﬂ'&:ﬂaﬁ, w1 T

distinct digits is : T

(1) 4634 (1) 4634

(2) 5040 (2) 5040

(3) 504 3) 504

(4) 4536 4) 4536
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69. If f(x)=|x|+[x—1], where [-] is greatest | £9. Ifg f(x)=|a +[x-1] -4 ‘E'lﬁ[.]w Toifs
integer function, then f(x) is : e BRIl #, o)
(1) continuous at x=1 but not at x=0. (1) x=19 H0 ¥ g r=0W 7 &
(2) neither continuous at x=0 nor at (2) AWMax=0T HaA ¥ 7 T Fx=1m)
x=1.
(3) continuous at x=0 as well as at (3) x=07x=13H W Haa T
r=1.
(4) continuous at x =0 but not at x=1. (4) x=0W ¥ T HGx=1T T ¢
70. If the sum of first n terms of two A.P.’sare | 70. =f% 31 gRiA dfgd ¥ 9o n wal & am &
in the ratio 3n+8 : Yn+15, then the ratio In+8: Tn+I5FM AT R, dt FF 12§
of their 12" terms is Ti'q:fﬁaﬁq'lﬁ‘g‘:
(1) 74:169 (1) 74 :169
() 13:47 (2) 13:47
(3 8:7 (3) 8:7
(4) 7:16 4) 7:16
71. The reflection point of the point (0,3, —=2) | 71. &g (0,3, —2) 1 @
mmeﬁml—;—x'=z—y=z-u1is I-;x=2—y=z+1ﬁ;ﬁ|ﬁﬁaﬁg%:
1 21,0 (1) (21,0
) (©0,1) ) (0,0 1)
Gy 1.2 -1) (3 12 -1
4 @149 @ @214
72. If a chord of a circle ¥’ + 3 =4 with one 72, A TP+ =4 B wF S, fww o
extremity at (1, [3) subtends a right fim fag (1, y3) ¥, 99 F F2 W FHHD
angle at the centre of this circle, then the FHafid ma"r %, o 3@ S & g aifom 6y
coordinates of the other extremity of this & s @ €
chord can be : '
(1) (-3, -1) 1) (-3, -1)
2 (V3,-1) 2 (V3 -1)
® (-1 V3) ®  (18)
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73. Km, and oty
1 My are the roots of the e uation | 7
x3+f¢”+2}x+u’§-1—ﬂ thi thn ” q?miﬁm%
. =4}, n the x4+ \."'_-4-
area of the triangle formed by the lines et [ i it hﬂ%lﬁ o
If =3 +2)
) Sl——=
@ 2(-‘3~1,J @ 21 JH:J
3 -1
1{ =3 +2
2 =]
@ z(ﬁﬂJ (2) %r_ =
143 +2
3) = (
@ E(JHJ ® 3#5)
vo =1
1(V3 +2
4 -
® 2(\,@+1] ) %[§+2}
341
?4' Fa Pl s 5
If 4, v and w are unit vectors | 74, afs 1:', 2 qdr w TR T wfaw 7 =
satisfying 213+2i}+37:s=a the | f . 0 =0
B , n 2u+2v 43w =0 F 4w F@ § @
u - 7 equals : |G—;|W%
V7
4 V7 =
M 3 o ¥
5
Ir' ==
@ 3 2) %
"
7
@ 3 (3) E
V5
_,1 iy
(4) > (4) -“;—g
H/P
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75. Using the fﬂFt that 75, WO = f(x) = glr),c<x<d=

OD=fx)=glx)c<xr<d= d

d d If‘t}dr [gtx)dx, ¥ wain & w= %
_ff(x}d.r = Ig{x}dx, we can conclude £
c c
3 ;
3 e e ww # 56 (V3 + 2% dyx Tom
that Jw.I'S + 2% dx lies in the interval : J‘
1 - Haue 4 from & 98 % .
3
s 3
(1) (2“—:] (1) (5,5]
(2) (4, 2v30) (2) (4, 2430)
(1. 1

4) (2, J30) 4 (2, V30)

76. Let I{x]=12—81+12. xe[2, 6]. 76. AT f{x}=12—3x+12, xe[2, 6] T
Statement 1: f‘(c) =0 for some ce(2, 6) HAT 1 TR ce(2, 6) & QS () =0 F
Statement 2 : f is continuous on [2, 6] and HUT 2: f [2, 6] W HaA & q90(2, 6) W
differentiable on (2, 6), with £(2) =£(6). FIFEG & A £(2) =£(6) ¥
(1) Statement 1 is true, Statement 2 is (1) F99 193 T, 99 2 srgwa £

false.

(2) Statement 1 is false, Statement 2 is (2) FF 139 E Fuw 29w §
true.

(3) Statement 1 is true, Statement 2 is (3) T 19W R, FUA 2 GW E FY 2,
true, Statement 2 is a correct FEIF UG ISR .
explanation for Statement 1.

' (4) Statement 1 is true, Statement 2 is (4) F4719FE, F 209 § ;599 2,
true, Statement 2 is not a correct F99 1 T GEl A= & E |
explanation for Statement 1.

77. lfafi=0,1,2,..,16) be real constants such | 77. 3 a(i=0, 1, 2, .., 16) T# aAvafas =€
that for every real value of x, tfw & vlTs orfas a9 & e
{1 +x+x2]s=aﬂ+alx+azxz+ ,_,+a1ﬁxlﬁ, {1+x+x2}$=aﬂ+alx+32x2+ ..,+51-“,5I.'lr-1'&I
then as is equal to : '%,EETaSElTIﬁT%:

(1) 506 (1) 506

(2) 508 (2) 508

(3) 502 (3) 502

(4) 504 (4) 504
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78. The sum of n terms of the series | 78.  gmit
1 3 . ¥ 15

S S 4t g 2P 1.3 7 . 15

TN W 2ttt W E At

=1

1) n+277 -1 (1) a2 21
1

2) =@"- 1
@ Ze"-p @ se"-1
1
n &
3y 2 —n=3 (3) 2"=-n-=
4. + 3=27" (4y 1-2-T
79.  The value of 79.  tan9" —tan27° - tan63° + tank1°

tan9® — tan27° — tan63° + tan81° is : A E:

1 2 1 2

(2) 0 (2) o

(3) 4 (3) 4

(4) 3 (4) 3

80. LetL be the line y—4=y—2=2_"7 ongq [80. #FT LY@ x-g=y_2- % % amp

P be the plane 2x—4y+z=7, THAS 2x—dy+2=7 §|

Statement 1: The line L lies in the plane HT1: Y@ Lo P feom ¥

P,

stal_'Ement 2 : The direction ratios of the wAT2: @LF fog ML =1, m =1,

line' L are I; =1, my=1, n, =2 and that of n;=2 % 91 GWAA P % Hivwa &

normal to the plane P are I, =2, m,= —4, fegp arqoms lp=2, my=—4, n,=1, ¥ 7o

n,=1, and L1, + mym, +n;n, =0 holds. by +mym, +nyn, =0 AR & &

(1) Statement 1 is true, Statement 2 is (1) 9719 8, F97 2 57w &)
false,

(2) Statement 1 is false, Statement 2 is (2) T 1 HEA §, FUT 2 66 B
true.

(3) Statement 1 is true, Statement 2 is (3) FHT1¥A %‘ o 2 W ¢ ;e 2
true, Statement 2 is a correct FU 1 H1 HE = ¥
explanation for Statement 1. '

(4) Statement 1 is true, Statement 2 is (4) W_I TR FUT 29 2
true, Statement 2 is not a correct FT 1 7 W e T ¥
explanation for Statement 1.

B -olo-
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